Chapter 3 Transformations

A rigid motion is a transformation that preserves length and
angle measure. Is the transformation a rigid motion? Explain.
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Try It!

1. a. Is the transformation a rigid motion? Explain.
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1. b. Is the transformation a rigid motion? Explain.
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Reflections

A reflection is a transformation that reflects each
point in the preimage across a line of reflection.

A reflection has these properties:

¢ |f a point A is on line m, then the point and its
image are the same point (that is, A" = A).

* If a point Bis not on line m, line m is theiy
perpendicular bisector of BB'.
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The reflection of AABC across line m can be written as R,,(AABC) = AA'B'C'.
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A reflection is a rigid motion so length and angle measures are preserved.



Quadrilateral F GHJ has coordinates F(0, 3), G(2, 4), H(4, 2), J(-2, 0).

A. Graph and label FGHJ and Ry.axis (F GHJ). What is a general rule for
reflecting a point across the x-axis?

(0,5~ F (o)
G(Z,"I) — 6’!(‘1)-%5

H (92)— H' (%)
T ()= 360




Quadrilateral F GHJ has coordinates F(0, 3), G(2, 4), H(4, 2), J(-2. 0).

B. Graph and label FGHJ and Ry ..is (FGHJ). What is a general rule for
reflecting a point across the y-axis?

C (oD — F(o,3)
G (2,9)—> 61'(*2,‘1)
) ("Ul) — H' (_LJJD")
3 (-2,0)= 3'(20)




3. Triangle ABC has vertices A(—5. 6). B(1. —2). and C(—3. —4). What are
the coordinates of the vertices of /A A'B’'C’ for each reflection?

(X) )’) -2 ()(J— /) 4

a. Kyaxis

Al-s,e) = A'(-s-¢)

B> (1,%)

¢ (-5,-4) 5 C'(-34)




3. Triangle ABC has vertices A(—5. 6). B(1. —2). and C(—3. —4). What are
the coordinates of the vertices of /A A’ B’ C’ for each reflection?
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B, g (-1-2)
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What reflection rule maps /A KLM to its image? K Ay

Step 1
Write the coordinates of the preimage and
the image.
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4. What is a reflection rule that maps each triangle to its image?

a. C(3. 8). D(S. 12). E(4. 6) and
C'(-8. —=3).D'(-12. -5). E'(—6. —4)
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.What is a reflection rule that maps each triangle to its image?

F(7. 6). G(0. [4). H(-5. 0) and F'(-5. 6). G'(2. £4). H'(7. 0)
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